— A -
2 SeHx XIS

—

02

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

EH 0p22);
A8, ofod =3
EEPCETRTEYS

HH.
K1244.00800 ™o A

4o
e
to
|H
e
Mk
|'I'IJ
Ral
N
ook
=
OH
il
o
r
ful

AMIAME]:
K0688
K0689
K0690
K0101
K1442
K0102
K0103
K1443
K0104
K0106

www.kipp.com - info@kipp.com 1/2



°
2l HeHix A XIS AXIdF O] XSl 2] A=
= i pZs fxdral Xe ST ALE
=N
|
-
O
|
Q
\
L
Z= 29
SEW L DY SWY ATE Y2 LY A FUT
FEHS EC ol 7 aZ9] & 2 ZC=] =L
Zte N ZE FH F1 F3
N N N
K1244.00800 95° 60° 100 800 600
K1244.02400 90° 70° 150 2400 1200
K1244.03400 90° 70° 200 3400 1600
K1244.04400 90° 70° 250 4400 1600
K1244.05400 100° 50° 280 5400 1800
FEHS A Al B Bf C C1 C2 D H L L1 M
K1244.00800 127 254 12 6 34,5 9,6 6,4 52 116 65,8 28,6 M6x44
K1244.02400 19 35 12 6 48 17,5 7,5 7.1 194 87,7 40 M8x50
K1244.03400 32 50 16 8 64 22 9,5 83 240 124,25 65 M10x80
K1244.04400 32 53 20 10 70,4 25 9,5 8,7 245 138,25 74 M12x100
K1244.05400 50,8 762 20 10 1135 31,8 127 123 335 197,5 107,8 M16x150

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/2



